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2 3) 100 57.6 72.0
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       M = 2.493×104  

192 n = 2.493×104 n = 129.8  130  
 

 
1 a b c d  
2 1) CuSO4・5 H2O CaCO3 NH4Cl PbS  

2)  
3)  

3 C4H8 
4 1) C4H10O2 2) C6H10  

 
2 400 mL CO2 400 mL 4 

1100 100 v 400 800 v = 600 mL  
C4H8 6 O2 → 4 CO2 + 4 H2O  

3 2) 41.0 201 41.02
160M


  M = 82.0  
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A. 1 AgCl 2 PbCrO4  
B. 1 H2S 2 CuS  
C. 1 2 3 [Al(OH)4]  
D. 1 [Zn(NH3)4]2+ 
E. 1 (NH4)2CO3 2 CaCO3 3  

 
  

H2SO4 CaSO4  
 

 
1 7.52 kg 2 420 3 3.2 10 2 mol 2.1 10 1 mol  
4 27 5 4.02  

 

1 16.0 kg 53.0 53.016.0 0.140 8.48
14.0

   (kg) 

16.0 8.48 = 7.52 kg 
2 π cmHg  

12.0 1 12.076.0 8.00 76.0
16.0 13.6 8.0

      π = 57.58 cmHg 

 

5 3 257.58 100 2.00 4.00 1.3810 8.30 10 3.00 10
76.0 1000 M

 
       M = 419.9 

3 p Pa 1.0 105 p 
1.0 105 3 p = (0.63 0.030)×105  

50.40 10
3

p   Pa 5 3 20.40 10 6.0 8.3 10 3.00 10
3

n       n = 0.0321  
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